Bottle and Cork – Solution

This is one of those occasions when the "obvious" answer is wrong.

The immediate response of some people is that the cork costs 10p and the the bottle costs £1. This can't be correct because the difference between 10p and £1 is 90p, not £1!

The correct answer is that the bottle costs £1-05 and the cork costs 5p.

Using Algebra

Working in pence.

Let the cost of a cork be x pence.

Cost of bottle = 100 + x

Cost of cork   = x

cost of cork + cost of bottle = 110

Therefore:

x + (100 + x) = 110

 100 + 2x       = 110

Subtract 100 from both sides:

                  2x = 10

Divide both sides by 2:

                  x = 5

Cost of cork  = 5p

Cost of bottle = £1-05

